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Assignment
1.Which three rivers make confluence at Prayagraj?
a.Ganga, Yamuna and Saraswati b.Satluj, Ravi and Beas

c.Son, Kaveri and Krishna d.Godawari, Jehlum and Tapi

2.Mountains and .............. belong to the same type of landform.

a.Deserts b.Plains c.Plateaus d.Hills

3.Assertion (A):Panchayati Raj System is a three-tier system.
Reason (R):Zila Parishad is there at district level.

a.A is correct but R is wrong.

b.Both A and R are wrong.

c.Both A and R are true and R is the correct explanation of A.

d.Both A and R are true but R is not the correct explanation of A.

4.Assertion (A):Patwari maintains the land record of the villagers.

Reason (R):So that there should be no dispute regarding ownership of the land.
a.A is correct but R is wrong.

b.Both A and R are wrong.

c.Both A and R are true and R is the correct explanation of A.

d.Both A and R are true but R is not the correct explanation of A.

5.Why is the local self government important in governance and democracy?




6.What are the similarities between the governance system at the Central Level and at
the Panchayat Level?

7.Explain the following terms:

a.Flash flood b.Landslide c.Avalanche

Q8."The Northern Mountains are sparsely populated’. Do you agree with the statement?
Give reasons to justify your answer.




